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If the direction cosines of a vector ¥ satisfy

5 2 -
cosa = %, cosff = % , cosy < 0, then the vector w that has the

length 4 and the same direction of ¥ is

(A) (V5,42,—V3)

5 3
(B) (;.2.1‘;)

© (-7, =2)

(D) (=5, —-2v2, 2V/3)
(E) (V5,2v2,—/3)
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The distance between the line L: %1

and the plane x—y—-—z=4

ale @l Gl

e

y+2=z-3
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2x% + y* + 32> — 2y = 4 , represents

(A) cone

(B) hyperboloid of one sheet
(C) ~ hyperboloid of two sheets
(D) ellipsoid

(E) paraboloid
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The set of all points that lie between the xz —plane and the vertical

plane y = 4 and inside the sphere with center (0,0,—1) and radius 6
can be represented by the inequalities

(A) xz<y<4 andand x%+y%+ 2%+ 2z <36
B) 0<y<4and x*+y*+2z%—2z<236.
(C) 0<y<4and x*+y*+2z°+2z=235.
D) 0<y<4 and x?+y?+2z%+2z<35.
(E) 0<y<4 and x?+y%+2z%2-2z<35.
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If the volume of the parallelepiped, determined by the

vectorsd,band ¢ is 8 ,then |F1”-(E><—4E)| is

(A) 18
(B) 4
(C) 32
(D) —32

(E)

s
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Find the projection of BC onto AB , proj;z BC

where A(1,2), B(4,6), C(5,5)

(A) (=, =)
B) (-3, )
€ ——it(5)
(D) —<

() (—3.—2

5" 5
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An equation of the plane through the point(—2,2,1)
and parallel to the plane 5x +z =4+ 2y , is

(A)
(B)
(©)
(D)

(E)

5(x—2)-2(y+2)+(z+1) =0
5(x+2)+ (y=2)=2(z+1)=0

5(x=2)Y+2(y+2)+(z+1) =0
5x+2)—-2y—-2)+(z—-1)=0
5(x+2)—-2(yv—-2)—(z—-1)=0
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Parametric equations of the line passing through the
point (2,—1,—3) , and perpendicular to the two lines
Ll:x=1+4+t , y=-2 , z=-1

IL2:x=3 , y=2-2s , z=2+5s are

(A x=2+2t, y==1~t, z=—=3=+2t
B) x=2<2t ,\ y=<1F+t - z=-3+2t

C) x=2-2t, y==-1+4+t, z=-3-12t
D) x=-2-2t, y=—-1—-t, z=-3+12t

(E) x=2-2t, y=-1—-t, z=-3—-2t



